digital filte,- 3 dB ripple in Pass bangd: ¢ < W = 0.27, and 25dB altenuation ip Stop bang:

0457 < =wo( Using bilinear transformarjop method) 5 Marks, CO-3 &CO-5;
Q2. Convertg the analoy fijte, transfer lunction H{s) into digital transfer function H(z) Using
bilinear transformation. where f(s) = (E—:T)— 00 [03 Maris, CO-3 &CO-SJ

Q3. Converts the analog [IR filter Uransfer function H(s) into digital 1IR filter transfe, function

o : . 10 .
Hiz) Ustng impylge Myariance method, whepe (s) = m,l = 0.2 Sec,

105 Marks, c0_3 &CO.-5)

-1_ -z -3
Q4. Draw the direet form-I1 apng cascaded strycqy e of IR digital H{z) = M\BZ{#.

Also, find oy the number of delay elements, adders, ang multipliers required for the Cascaded
and direct form-2 Structyre, {05 Marks, Q.3 & CO-)
Q5. Obtain the interpolated signal yIn] by factor 2y the givep, Stgnal x[n] = [1,1,1,1,1,1]

_ {03 Marks, C0-4j
Q6. Ifa Sequence hag N=1000 samples, the Calcutate (he ﬁ'equency resolution for the quality

“actor Q=19 of the FoHowing POWer speciry| Methods: [04 My rks, CO-2;



